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2.9 2,227 2,890 -663 | A &5 2L BAAREGH] 1 -663,0009 = -663,000
3. 71341 A A Rk 564 564 0
S.FAZN(F)FAdL 2 FA- 58 4 =00 0
1. WS99 500 500 0
6. [Z2]1(F4) st EFTYH 350 350 0
1.9 Rk8-] 350 350 0
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1. 0529 710 900 -190 | St YALA = 2HA = 1 -70,0009 = -70,000
S PALEETY ¢ -120,0009 = -120,000
RNES R Bt R 245 890 -645
1. A& 3] 245 890 -645| ZJ AU A 4] -160,0009 = 160,000
QAW E A A 1 485,0009 = -485,000
4. [2]873AY 1,286 1,286 0
1. 4Rk=8-] 1,286 1,286 0
2. BEA E g 2,648 2,648 0
1. 3RS GA = 1,000 1,000 0
2. [ 1,000 1,000 0
1.95% 1,000 1,000 0
2. oy 1,500 1,500 0
1[21(ER) S o i no29u] 1,400 1,400 0
1. &89 1,400 1,400 0
2. [Z]0ALEE A g2 | 100 100 0
1. Wk 5700 100 100 0
3.8 oA 148 148 0
SN e e 148 148 0
1. 25 148 148 0
3.9478n 9 24,041 24,041 0
1.8t 24,041 24,041 0
lLlz]ojgdgtadd 14,662 14,662 0
1. dRkE8n) 1,970 1,970 0
2. 295 694 694 0
3. 5y 11,018 11,018 0
4. BAAG 3100 980 980 0
2. [Z=](Fh&3tnl) 2Fe- 3t a g 2 & o & TheRub- 9 116,825 0
1. 059 6,825 6,825 0
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191753 720 720 0
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1955753 14,422 14,422 0

3. [z1stn AuAgEstEd 24 2,000 2,000 0
1915753 2,000 2,000 0
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6.3t ke 127,712 125,813 1,899
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1. k=81 4,502 4,145 357 [ AFF-EZE9) ¢ 607,000 = 607,000
FE&=AT9)H] ¢ -250,0009 = -250,000
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3,999 10,622 10,622 0
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2. BARFAL LA 11,118 11,118 0
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4.3 700 700 0
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2.4 FER 1,500 1,500 0
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3. 7134 A A Rk 1,254 1,254 0
3.3ty dH 3,128 3,148 -20
1.3t g4 91 384 1,100 1,100 0
L[z]gadd s 1,100 1,100 0
1.99H] 100 100 0
pPASLIS RS 1,000 1,000 0
2.3 gy 2,028 2,048 -20
12133 ed 2,028 2,048 -20
1. dRkE8n) 1,878 1,898 -20 | SE- R %A el H] 1 -20,0009 = -20,000
3. ARk - Fx0m] 150 150 0
7.3t 0 A 0 1,000 -1,000
1. ¢)n)n) 0 1,000/  -1,000
1. <ju)n] 0 1,000/  -1,000
1. [Z]eln]n] 0 1,000 -1,000
A9 20239 02€ 139 10A] 35% 02% 11 BN




20228 A = M=o AE AN

WK © -500,0009 =

A DdHH] ¢ -500,0009 =

229 2023 02€ 139 104] 35% 02% 12 e S A



